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Hoofdstuk 5, Berekenen van oplegreacties en verbindingskrachten vraagstuk 5.33-1 t/m 6, blz. 192 
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Antwoorden: Alle krachten in kN 
 
1a. v 6 ( )A = ↑  
 h 6 ( )B = ← ; v 6 ( )B = ↓ ; m 12 ( )B =  
 
2a. v 2 ( )A = ↑  
 h 6 ( )B = ← ; v 2 ( )B = ↓ ; m 4 ( )B =  
 
3a. v 6 ( )A = ↑  
 h 6 ( )B = ← ; v 0B = ; m 0B =  
 
 
 
 
 
 
 
 
 
 

 
 
 
4a. h 6 ( )A = → ; v 1,5 ( )A = ↑ ; m 10,5 ( )A =  
 v 1,5 ( )B = ↓  
 
5a. v 0A =  
 h 0B = ; v 6 ( )B = ↑ ; m 12 ( )B =  
 
6a. v 4 ( )A = ↑  
 h 0B = ; v 2 ( )B = ↑ ; m 4 ( )B =  
 


